EXERCISE 9 Name KEYN

Chem 10 (last) (first)
(Due in lab )
10 points Lab Section # L.ab Instructor

A. For each of the following reactions, write a "B" if the equation is balanced and a "U" if the equation is

unbalanced.

1. Hg(NOs), — Hg(NO;); + O 1. B"__
2. Cas(POy), + 3NaOH — NasPO4 + 3 Ca(OH), 2 W

3. MgO + H,0 — Mg(OH), 3__ B

4. H,COs + 2NaOH — Na,CO; + 2 H,0 4 B

5. K;S + Pb(NOs)2 — PbS + KNO; 5 9]

6. CiHip + 130, — 4CO; + 5H,0 6 8]

B. Reaction Type: Write the correct /effer in the blank at the right.

(A) Combination (B) Single Replacement (C) Decomposition . (D) Double Replacement

1. Ba(NOs); + Na,SO, —> BaSO, + 2 NaNO; : 1. __ D
2. P0s + 3H0 — 2 HsPOs 2. B
3. Cu + 2AgNO; —> Cu(NOs), + 2 Ag 3 8
4, NH I — HCI + NH,3 4. c
5. Np + 3H, — 2NH, ’ 5 A
6. HC! + NaOH — NaCl + H,0 6.__ D
7. 2Pl; —> 2P +31; 7. C
8. 2Al + 8HNO; — 2 AI(NOs); + 3 H, g B
8. NHBr + KCyHsQ, — NH4C,H:0, + KBr 9. D

10. Cu(OH), — CuO + H,0 10.___ G

11, BaD + CO, — BaCOs 11.__ A

12. Cl, + 2KBr —> 2KCl + Br, 12, B
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For each of the following DOUBLE REPLACEMENT reactions, circle the PRODUCT which causes
*he reaction to occur (go to completion). Then write the correct letter that corresponds to the product
__ Sucircled in the blank at the right - that is - choose from the following:
(A) weak acid (D) insoluble gas
(B) weak base (E) water

(C) insoluble salt (precipitate) (F) no reaction

EXAMPLE: 2 AQNO; + MgCl; —> 2(AgCl) + Mg(NO3): B

1. Fez(304)a ¥ 3 K20104 ? FG;(C204)3 + 3 KzSO4 1 Cd g
.;' j

2. H;SO, + 2NaOH — Na,SO, + y: £ 5@

3. (NHJ:S + 2 HNO; -—*@) + 2 NHNO, 3. O

4. 3KCO; + 2LisPOs — 2 KsPO, + 3 Li,CO,s 4 B

5. Pb(NQOj), + 2 NaCl —~—>+ 2 NaNO, 5. G
6. KC,H;0, + HCI KClI 8. A
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